Paper: B.E_B.Tech

Set Name: |ltem25

Exam Date: | 29 July 2022

Exam Shift: | 1

Langauge: |Gujarati

Topic: Mathematics-Section A

Item No: 1

Question | 190201

Question

Type: MCQ

Question: izl 3 R2 8L {1, 2,3, ..., 60} 9l d uz-dl 2idl Heit @ 3 &2l R={(a, b) : b=pq, s
C |l p, g = 3 Eeds vl 9., dl R AL gesil dva 8.

A: 600

B: 660

C: 540

D: 720

Topic: Mathematics-Section A

Item No: 2

Question ID: 100202

Question Type: | MCQ

Question: | o} z=2+3i ¢4, dl z° + () =
A: 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A

Item No: 3

Question ID: | 100203

Question MCQ

Type:




Question: | &Rl S A el B 2L o 24l 3x 3 2L2el? Alzelas Alst © 5 vl AB 2 9= AR S, dl
A Hu UH 5201 Al AX =0 o @i G3d 8.
B: Hu ulsreL Asla AX=0 A 20w G5l ©.
c: B @iy Alels ©.
D: adj(A) v~ ACLs 9.
Topic: Mathematics-Section A
Item No: 4
Question
D: 100204
Question
Type: MCQ

ol 1 + 1 +..+ 1 =L dx, dla - WedH
Question: (20 — a)(40 —a) (40 —a)(60 —a) (180 —a)(200 —a) 256

Yy .
A: 198
B: 202
C: 212
D: 218
Topic: Mathematics-Section A
Item No: 5
Question ID: | 100205
Question
Type: MCQ

X —x .
Question: | o i & T PBE T FYSINXY _ 2 i o B,y € R i, dl {13t 1 53 2 ol 9
x—0 X sj_nz X 3

A: o?+B2+y2=6
B: af +By+vya+1=0
C: af?+By2+yaZ+3=0




D: o2 =+ BE i "1"2 =4
Topic: Mathematics-Section A
Item No: 6
Question ID: 100206
Question Type: | MCQ
2 1
Question: j' e s
3 3 + 2 sinx + cosx
A: tan—1(2)
. —_ ™
B: tan 1(2) — —
4
1 [ 11'
c: —tan"1(2) - =
2 3
D: 1
2
Topic: Mathematics-Section A
Item No: 7
Question
D- 100207
Question
Type: MCQ
aRl S [Asa wlsel (1 4 ez’f)[d_y m yJ =1 L G3a a5 y=y(x) 2 [Gg [0, %) Higfl e
Question: dx
9. dl lim e'y(x) =
x—00
A: E
4
B: 3w




C: i
2
D: 3_11.
z
Topic: Mathematics-Section A
Item No: 8
Question
D- 100208
Question
Type: MCQ
™ = = 4 » 3 H
UL S VL L 2L 30UA by + 10y —8=0 21 2x — 3y =0, be R — {E] Al Dgotg wigl waR w9,
Question: | vl 2¥il L od (615 (1, 1) gl 4L R A 2 adn 17(x2 +y2) =16 - 2ugl, dl Guaax
2 2
2+ ¥ -1 A Ga=ga .
5 b2
2
A: _—
J5
B: E
5
1
C: _—
V5
D: E
5
Topic: Mathematics-Section A
Item No: 9
Question
D 100209
Question MCQ

Type:




al (g A(=1, 4, 3) ol Had P : 20 + my+nz=4 Wil dotwie [_2, 7 E) d, dl Big A A
Question: 2 2
AU P ol 3, —1, —4, [so)8ier ol Lo uuidr 2¢l wiud »iaz 9.
A 1
B: \26
C: 2.2
D: V14
Topic: Mathematics-Section A
Item No: 10
Question
D: 100210
Question
Type: MCQ
- - A A . = A A A - — - (—> —>) — - .
HRLS a =37+ j Al b=i+2j+k.4R35 ¢ 2l ax\bxc/=Db+Ac - A
Question:
= U 4 ~ . ™ ~ H
53l UEAO. ol b A ¢ AUAR A ¢, dl N 4 YA 8.
A: -5
B: 5
C: 1
D: -1
Topic: Mathematics-Section A
Item No: 1
Question
D: 100211
Question
Type: MCQ
2193l Gz dzg 2udd (G5 A Al 21zl il Geasiol o 2 [Gg A ol ulEw dzs 9 sy 2idR
Question: o . Al B N o e e . . ..
2194 (61 B ¥l d cos [E] O. o [015 B 21942 &l 2{cR 15 2153 ¢, dl cota =
A:

5
5




B: 2
5
C: E
3
D: z
3
Topic: Mathematics-Section A
Item No: 12
Question ID: 100212
Question Type: | MCQ
Question: EDIE pPAqQ =(pAaT) | o HUSH O,
A: q=(pAr)
B: p=(pAr)
C: pArr)=(pArq)
D: pArq)=r1
Topic: Mathematics-Section A
Item No: 13
Question
D 100213
Question
Type: MCQ
Quest 4Rl 5 A(a, 3), B(b, 5) 21t C(a, b), ab > 0 [R1i[G1g211 con Bsiew] uRkag P(1,1) 9. od 2wl AP 2
uestion: | . S -\
6L BC L[4 Q(k,, k) 20 8%, dlk, +k,= 8.
A: 2
B: E
7
C: g
7
D: 4




Topic:

Mathematics-Section A

Item No: 14
Question
D: 100214
Question
Type: MCQ
Y A =, % ™, ™ =, ™ ™, ™ b T ™ it =, (A A) Y
LS a 2 b 2L o Al sy AlE © evueAl arAAL el — O, od dlEl la + b) 244
Question: 4
A A A A s = ~ o .
(a +2b +2(a % b)) 22Ul WULL § €1, dl 164 cos?0 | Hed O,
A: 90 + 272
B: 45 + 182
c: 90 + 342
D: 54 + 9042
Topic: Mathematics-Section A
Item No: 15
Question ID: 100215
Question Type: | MCQ
¢ logqot

h . ! %

Question: ﬁ“df(tx) — I ﬂ dt, a >0, &lA, '.'ll.f(eg) +f(e _3) =
1+t
A

A: 0
B: 2

2

9

C: _—

log. (10)

9

D:

2 log. (10)
Topic: Mathematics-Section A
Iltem No: 16




Question ID:

100216

Question Type: | MCQ

L]l
Question:
.o =,
{(x, y): |x—1|5y5\!5—12] 7 {450 ©.
A: E s_i_-n_]' [E) i l
2 ) 2
B: 5_11- — E
4 2
C. 3_11. + E
4 2
D: 5_11- — l
4 2
Topic: Mathematics-Section A
Iltem No: 17
Question
D: 100217
Question
Type: MCQ
HRLS WRAGU P o2 =4y Al, 2L L y=mx +¢, m > 0 43l AlGeal yzaddd [Gg2il M 244 N
Question: | A WA D, BURLS YL L 2L 2Alqead H: a2 — 2 =4 ol 2u8ls 4QL O, od WRdd P «f Q121515 O ¢
et iAo H Al A6 F, el x-248 42 ¢4, ol Ageslol OMFEN o &Asn 9.
A 2.6
B: 2+/14
c: 46
D: 4./14
Topic: Mathematics-Section A
Iltem No: 18
Question 100218

ID:




Question

Type: MCQ

sedl (484 f: R > R,
Question: | £(y)=|x—1|cos| x—2| sin|x — 1| + (x —3)|x2 = 5x + 4|, [Asadls A €l dal [Ggdi-l vl

9.
A: 1
B: 2
C 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question ID: | 100219
Question
Type: MCQ
Question: AL S S={1, 2,3, ..., 2022} al 212t S Hi2l el dla weiE $36 D5 deal n |2 9L
(n, 2022) =1 A1A el 2qoieeL &,
A 128
1011
B. 166
1011
c. 127
337
D: 112
337
Topic: Mathematics-Section A
Item No: 20

Question ID: 100220

Question Type: | MCQ




Wb f(x) =302-27+4 e R, dl Al U4l sl Qeudl 2z 8 7
P:x=02 fr2&°elld yetcnt (G5 ©

Question: oo
Q:x=+2 A f-ld[ag®.
a T o
R:x>+/2 We [ d4ud ©.

5
A: s P 2 Q

&
B: 55 P 21+ R

=
C: 551 Q A R

™
D: P, Q 24 R “&L o¢
Topic: Mathematics-Section B
Item No: 21
Question
D: 100221
Question .
Type: Numeric Answer
_ IRl 5§ S={0 e (0, 2m) : 7 cos20—3 sin20—2 c0s220=2} ©. dl dud uxls2el
Question: R -
x2—2 (tan20 + cot20)x + 6 sin20=0, 0 € S, Al o{lsd~tl UL 9.
Topic: Mathematics-Section B
Iltem No: 22
Qlfestion 100222
ID:
.IQ.ueS_tion Numeric Answer
ype:
Quest QIRL S 20 2AAALSAL Xy, X, - -, Xog UL HEUS 2 (AL AN 15 2441 9 O, od « e R W2, (x; + )2,
uestion: - - - - .
(o +@)2, . . (X + )2 Al HEUS 178 €, ol o «fl Uty Bl @l =

Topic: Mathematics-Section B
Item No: 23
I%‘feS“O” 100223
Question

Type:

Numeric Answer




QL S ([£59100R a, —4a, —7 <ol Y, 2 [E52L00dR1L 3,— 1, 2b 2l b, a, —2 Wil ¢in 3wl

P . . Y x+1 y -2 o, 2 e i =) 5
Question: | e . el WU ——— = 5—— = T e x -y +2=0 WA el (o, B, y) €, dl
a“ +b a“ —b
at+B+y=
Topic: Mathematics-Section B
Item No: 24
Question ID: | 100224
Ques.tion Numeric Answer
Type:
= a
. = - = =, =
Question: | €21 ay, ay ay, ... 2L WUAR G ©, sl Y =L =4 ¢, dlda, =
1250 T ot 2
r=1
Topic: Mathematics-Section B
Item No: 25
QLfestion 100225
ID:
?ues.tion Numeric Answer
ype:
5 1 o 1 = . . -, -, . -,
Ry (V2 + ;= | Al gz Al asdl sudinn (Srazgrul 2320l wize ue 210 Sed Al vz vel
. ¥3 I3
Question:
=, o '\ R . o
AGUdR 4 -1 . od 23l ©9F ? €4, ol o v, Hed 9.
Topic: Mathematics-Section B
Item No: 26
Qgestion 100226
ID:
Question .
Type: Numeric Answer
Question: ol 8251 0 2AUHL T €14 Vel AL 82siel UL 2A[AIsAL V2L €1 del 3 x 3 sgualal Lellsi-l
Y] 8.
Topic: Mathematics-Section B
Iltem No: 27
Question 100227

ID:




Question

Numeric Answer

Type:
HIRLS p 2t p +2 2AlA0Us HoAIRAL S i
pi (et D! (p+ 2)
Question: A=|p+ D! p+2! (p+ 3)! )
p+2)! (p+3) @+ 4)
ol p® 2t (p +2)P vid o4 A [Getsad €id, ddl o 24 B Al Hedy Budidl udol 9.
Topic: Mathematics-Section B
Iltem No: 28
Ql{estion 100228
ID:
Ques.tion Numeric Answer
Type:
| . + LI 1 Foue F . = k@lq, dal 34 k
Question: 2% 3% 3xdxbd 4xbxb 100 x 101 x 102 101
Topic: Mathematics-Section B
Item No: 29
QL_Jestion 100229
ID:
?ues.tion Numeric Answer
ype:
Quest QRIS S={4,6,9} 4 T=1{9, 10, 11, .., 1000} 8. sd A={a, +a,+..+a, : ke N, aj, ay as, ...,
uestion: -~ - . - - - -
a, € S} éld, dl A8 T—A HlAL dHIM geslel MreL 9.
Topic: Mathematics-Section B
Item No: 30
uestion 100230
Question .
Type: Numeric Answer
iRl 5 ML y=x+1 i, adn ¢, @ 2+y2-2x—6y+a=0 4 2RA wulaléa
Question: | ¢, : 5x2+5y%+10gx +10fy+ 38 =0 9. ol ‘-‘-lt:l';Ul €y Al Bsal r, €, dl a+6r2 =

YU O,

Topic:

Physics-Section A




Item No: 31
Question
D: 100231
Question
Type: MCQ
120 oL (el 20tel © 0 DA 52U A i oflsdd 51200 R Yl g2ulaeml e 9.
s (A) ;WG GfErl Blartidl 2UAdsIo Yredlel GuR 2HR AW O, ol HelldlHl addl p, ofe-l
" ~ 3 =~ = e Y .
Question: Blealr ¢ dl T =K /F’I/g 2L qURALell 2ld 0 O, el K 2 wRueird 9.
G/2
sREL(R) : wRMells Cravendl wessll 2eu sy ol HHd sl sy g wRwe wa 9.
Guls [AsnlAl deelal, Al 2tan [aseqiaigl Al 2=l [Bsey yrie 530
A (A) 21 (R) vid AL 9 244 (R) 24 (A) AL 202l 243s701 2410 9.
B: (A) 24 (R) “iel U&AL S 24 (R) 24 (A) Al A1l dusroL g el
c: (A) 41 O Bl (R) ¥ ©.
D: (A) M © uelL (R) 113 9.
Topic: Physics-Section A
Item No: 32
Question
D: 100232
Question
Type: MCQ
D ol Guz s Zserl 208 S vell A h Gl A et O, A st B Gl | @ culk waedlAl IRldR
Question: 3
AL :
N J2 -1
J2 41
B: Jg —~N2

3 +42




C: E
J3 +1

D: l

3
Topic: Physics-Section A
Item No: 33

Question ID: 100233

Question Type: | MCQ

: dx
Question: M t=+x +4,8dl (E]t_4 .\-!)1!{‘-&{
A: 4
B: U™
C: 8
D: 16
Topic: Physics-Section A
Item No: 34

I%‘feSt'O” 100234

Question
Type: MCQ

15l gL 4R 215 Yo (A0l 2051R) A dldl Riido Eaa ©. m e aziad s Aug [Eaad
Sl v erecll syl atld 52 O, Al S A5 (B g121 AL YR QARIAL GAAN (N) 20t A4l

86U (v) wll doisA £ld 7
Question:




A:
v
N
B:
v
N
C:
v
N
D:
v
Topic: Physics-Section A
Iltem No: 35
Ql.festion 100235
ID:
Question
Type: MCQ
Quest E o/eell 2U[qGlad Bizictcll 25 cllar qEildsr 180 60° AL S10LUEH sl 209 ©. 2 0ifcrtl Gz [Gg
uestion:
L Al 21l Gled @l
A: sZ"!\"ll
B: 8|




c: 25 YqUi2l
D: HHIA
Topic: Physics-Section A
Item No: 36
Question
D 100236
Question
Type: MCQ
™ Y i AL Y e, A A A Y A N A Y
1 kg 241 3 kg €01l O YEIUIAL 22U AEW 2A4$H 7 + 2] + k A =37 -2 + k ©. gHUIA
Question:
Srgell 2L Uz e AU[E2UAL YAl ARIAR @Al
AL A A
A: i +2§ +k
AN A
B: -3i —=2j +k
. A A
c —-2i +2k
ALA A
D: -2i — j +2k
Topic: Physics-Section A
Item No: 37
Question ID: | 100237
Question
Type: MCQ
A2 o (Al 2ANAL D ¢ D5 U A 2t oflsdd $I38L R 98 gL 2L ©,
s (A) @ SUSL U WAL darl 5 Al sien etlell el g3 Ul 8.
Question:
5129 (R) : 512615 e 244l Al 2 Wl 922l AuSs5181 vigsleL (obtuse) €M B,
Gulsa [Aen-lAl dgeiul, 2 2uddl [Eseuinigl Al 2l Bsey yais s
A (A) 21 (R) ¢ird A1 9 24 (R) 24 (A) Al 202l 23sre1 2410 9.
B: (A) 24 (R) ¢irl UL D 24 (R) 24 (A) Al 2412l qusrel 2 el
+ R e
c: (A) 12 O 48 (R) vl 9.




=, ™ -
D: (A) ML © el (R) 14 9.
Topic: Physics-Section A
Item No: 38
QL_Jestion 100238
ID:
Question
Type: MCQ
LR WIe Al 2N Yo Y st dotld onll saemi 20 2 Bieadl 2048 szl 209 dl geustl 4oL
Question: N -
RIRSICE] %2,
) “
A AU 22
= “
B: 8 el 94l
C. ]- ™ =
: — HELL &
4
= “
D: 4 YRl 943l
Topic: Physics-Section A
Item No: 39
uestion 1 100239
Question
Type: MCQ
et L dodlfl AIEL dlds alel ©9d yzall daesiaami 2Udd 9. 211 dlé a- /2@l 445181 1L abeREd
uestion:
alonle U2 L2l dzs olld $2 9. dlasl Sldrl-l 2uddsia Y2,
A: 21TJL/ (g cosw)
B: 2m,/L/ (g sinat)
C: 2mL/g
D: 2m,JL/ (g tana)
Topic: Physics-Section A

Item No:

40




Question

D: 100240
Question
Type: MCQ
p{](é — LJ ;MR r<R
p)=q v R
2 ;e r>R
AR Aedid] 2Nl UM [yacuz aduell [GuRL, el r(r < R) 2 srgdl 2ldz ©  (2ug(d sp21l) P
Question: | 1§ 2o [Begdai el
il g
A T [_ _ _]
4g \4 R
. P T [3 T J
3gg L4 R
I T
C: _P[] (1 — —J
4 €p R
T
D: _P[] [1 — —J
5 €p R
Topic: Physics-Section A
Item No: 41
Question
D: 100241
Question MCQ

Type:




121 2dlL [Bar-l e dl.

Qe T: ctgsell wuidl Buz @i gz oo [Qyaffanin »a ¢ 0.

Question:
(B 11 ;. [Eovowfac yarssel dd o oL oL 21010 s Cigl [Geaaist i dogi ¢ 9.
GuRlsd [Cerrl-l dgeln, 12 2udaL [Eseqiiel el 1Rl [@sey waie s
A CUIEE EYERCETEN | R E RTINS
B: [z, T 2 [Sa, IT i wiel 9.
c: [Bena T © veL (@ 11w ©.
D: COTEN SRR I CUTEN | ENDRON
Topic: Physics-Section A
Iltem No: 42
Question
D: 100242
Question
Type: MCQ
Quest o s WAL AL Bleel Rl Aol sdseudl 204l O, ol oy 2 0, 242U ARl 24953
uestion:
eleseil Gl dl 2L eyl 25135 Algsdl Y3,
A: Gl
G’l + G'2
2
B: —Ul 92
G’l + 0'2
+
c: RIS S
2[}'1 [}'2
+
D: —Ul 2
0102
Topic: Physics-Section A
Iltem No: 43
Question 100243

ID:




Question
Type: MCQ
- H ‘\{5 B . o S

E =440 sin1007t emf 814q Geeyde Bgord ~= H «l 808523 U1l YR @14 2194 . o
Question: ™

YRyUUL ac. 23{ler @ouds™l 209 dl, def 2Addls a3l
A: 44 A
B: 155 A
C: 22 A
D: 311 A
Topic: Physics-Section A
Item No: 44
Question
D: 100244
Question
Type: MCQ

1 H 3281 24 100 Q Al 249218 4214 242400 (9UL) A 6 V el oledl A8 sd sl 2094 S.

()  [RRct- RRlel Yeuetl Mol S3cll 2ASEL Ul U o HIE ALl HHH, 2
Question:

(b)  ulu2Ml 50 20g saL CUE 15 ms HH 0L 118 HshuEd 2oslaal Haled Gled 2lial.

(In2=0.693, e ~3/2=0.25 2144 9©.)
A t=10ms; U = 2 m]
B: t=10ms; U = 1 m]
C: t=7ms; U =1m]
D: t=7ms; U =2m]
Topic: Physics-Section A
Item No: 45
Question ID: 100245

Question Type: | MCQ




CIDES PR IDEE | U

- 1 Yl - I
(a) UV (el ()  svdlizéd WSS 4L dldsy 2laal
Question:
(b)  X-(52ell (i) well lEas
(c) &M ol (i) HELWAACR, 2SI
(d) MRS AL (iv)  Y3HUALOL [EUAIML £24ctl QERAL WL
A: (@)-(iii), (b)-(ii), (c)-(1), (d)-(iv)
B: (2)-(ii), (b)-(1), (c)-(iii), (d)-(iv)
C: (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
D: (a)-(iii), (b)-(i), (c)-(i1), (d)-(iv)
Topic: Physics-Section A
Iltem No: 46
%{eS“O” 100246
Quest
: ;Jpees:tlon MCQ
uest srdlR 2L U512 A sveedl dfotdoud Gl iR dagglrrl oUlGled E ©. o cirf 4ed 2 sved daRY ¢
uestion:
ol UM Hs12L sedl azadensd lell sv gl
A: hc
EX — he
B. hch
EN + hc
C: hA
EN + hc
D hch

EN — he




Topic:

Physics-Section A

Item No: 47
Qlfestion 100247
ID:
1Q_;Jpees:tlon MCQ

_ EL8Gler < WRHIRPML Sdsgle (i) [Bla 3w (allowed) Glod 2azuizll MY 2™, 244 (ii) G2UAH UL
Queston (allowed) Glad 2etzizl u2W 2z Ui 2sild 53 A €3320 Bedrrt £121nAl Glad -l 210lez %3l
A: 3:4
B: 4:3
C: 1:4
D: 4:1
Topic: Physics-Section A
Item No: 48
Question | 100248
_?;pe;:tlon MCQ
Question: 9V ofed HetH SU[HRAR Bl AM dZo4l, 8 V Al 53513 (CEAIA) HIBAL AM 2ol AR »is

UL :
A: 0.8
B: 0.5
C: 0.2
D: (i
Topic: Physics-Section A
Item No: 49
Qgestion 100249
ID:
1Q_}l/.Jpees:tmn MCQ
25 glAdlal WSsRSMAL Y4 23 R WA em 2120 514 sdIR el AR 256 UR 6 50 1AL O,

Question: | 25 oi[43 A YL SIUIr HEL YU REA YL 24 1YL AR B, ol AL HIslzsluAl dgdu Wi 2ls

Yzal.




A: 0.001 cm
B: 0.002 mm
C: 0.002 cm
D: 0.005 cm
Topic: Physics-Section A
Item No: 50
Question ID: | 100250
Questi
TyupeeS: ion MCQ
2 Oloyeil HEEHUL dlRedl 1A HIUALAL 2U5 AL 12 Horotel 2AAdisl 4A O,
—PQ [
0000000 s 45
Question:
(A) s yel vReMel W2 25 v 3$d By 0.5 mm Wi 9.
(B) AQUUSIR R5E YR $& 50 5L D.
(C) Yo ¥d Yz 29disd 2.5 mm 9.
(D)  AdUUSIR 256 YL 45 HL 51 U-3uL Yz 209 9,
(E) 8- 0.03 mm syeell 6L 3 ©.
dl clizedl 41 2l
A: 2.92 mm
B: 2.54 mm
C: 2.98 mm




D: 3.45 mm
Topic: Physics-Section B
Iltem No: 51
Question
D: 100251
Question .
Type: Numeric Answer
s Rejr u oveell WKGs AL 24 0 5101 Sl MEH sl 20 . MEH A 2l wa B § o4l
Questi U [Bulctsy 21al8 R Head 40 9. oflad ug 18l el mlEm 2idl <l szanl 208 © % sl wuEildsy 2alé
uestion:
ME(Gs 2afd seal 28l wol. ol [Buul wR[6s dot v © oflsd weel wie i sl
Slall el
Topic: Physics-Section B
Iltem No: 52
Qgesﬁon 100252
ID:
Question .
Type: Numeric Answer
[Giged et yeell-{l 2wlell h Gludal 24 yeelll auclell ah (h << R) svedl Gletdt ajgcausyie
Question: | $138L Geuzt AL AUIA ALHAN B, o o YA sl
(R, =6400 km dl.)
Topic: Physics-Section B
Iltem No: 53
Qgeshon 100253
ID:
1Q_ue§tion Numeric Answer
ype:
2s [5-wruileas [’y = %J o BOUCL P, 2 Becll d 245 2460 gl Ul g3 25 Al
Question: | P,(>P) 2l d, %4 O. Ay dlMHIA A8 S 24 YO dAlMHLA St HEl A 9.
d2 iy Ty
(£2 =32 24 9.)
1
Topic: Physics-Section B

Iltem No:

54




Qgestion 100254
ID:
Question ,
Type: Numeric Answer

25 Hld 25 URHUGE A 281 WA (- wHuesa g e (ABad szami 209 9. 20 Baedl 20 st

; = (12 H =

Question: | ajjqz (G2 Gy — R J/mol K O oy %2l

(Assume that the given diatomic gas has no vibrational mode)
Topic: Physics-Section B
Item No: 55
Question ID: 100255
Question Type: | Numeric Answer

=, - ~ 4
A URUUHL Al UL A w2l
90 9 () 9}
Queston WA M——W
IA
|
I 1
6V
Topic: Physics-Section B
Item No: 56
Question | 100256
?ues.tion Numeric Answer
ype:

5 cm [Bisatl dddl 2t AsEd Avs-dws dlifidl adnisiz oo (F1aL) A SREL drl g 2910
Question: | 37.68 X104 T sveq) Yersluaiat Govat s ©. sjninigdl addl uee A9,

[41RL 5 2t 2iv4L 100 © 2 =314 |
Topic: Physics-Section B
Item No: 57




Question

D 100257
Question .
Type: Numeric Answer
AT 24 91 cfleicll 8314l oL 1512, WSEL BUR cufasrul 2eid O, wsEL BUR A [G1g 240100 501 dslad e
Question: . . - . N
2 [Gg B 201 8. g A 244 B 24010 el dladril-l dstad I 22l
Topic: Physics-Section B
Item No: 58
Ql,.lestion 100258
ID:
Ques.tion Numeric Answer
Type:
Quest 314 cm deAld 24l 14 A AL Helld BRLedAL 25 diz il 25 adn el 209 9. a0l oSl
uestion:
251 A-m? &, [Given w=3.14]
Topic: Physics-Section B
Item No: 59
Ql.festion 100259
ID:
Ques.tion Numeric Answer
Type:
X-Y HUdde A UREls WiedHl M 24 M, o ssedl Al (uiel) okls ad asi. My Z=04e 2
L L, Y B ~ = '\ ™ T Y P N M A
Question el AslMrls §UAM, A Z<0 UL V3 secdlasloaris 8. MW P =437 —343 ] — 5k k2l
u on:
1% 21t Mstal oL eI 991 wisedl uuidl Gur 2 s2euml 208 9. M U 2AMIASIEL 240 M, Ul
aslogd S8l g2l dgidd Slall wal.
Topic: Physics-Section B
Item No: 60
Qlfestion 100260
ID:
_?ues.tion Numeric Answer
ype:
Quest p-n o752l W-lda R 0.6 V 8. 6x1076 m etsld dddl Shazid Brarui dalsis fal
uestion:

S x10° N/C ¢4l

Topic:

Chemistry-Section A




Item No: 61
Question ID: | 100261
_(I?;pe::tion MCQ
Question: | «{[2 24U 242AIAL el US| 58 28] Sesgld 209, 21 [Gddld 2ires 209 419 7
A BCl, 1L SF,
B: NO 241 H,S0,
c: SF,, 24 H,50,
D: BC]3 24 NO
Topic: Chemistry-Section A
Item No: 62
Question 100262
_?;pe;tion MCQ
Nz(g)+3H2(g) = 2NH3(g)
Question: 20g 5¢
Guzefl M3 el @l ML AL H2iRa M5 249 NH, AL edetell moles <l 2w 24930 2llell.
A H,, 1.42 moles
B: H,, 0.71 moles
C: sz 1.42 moles
D: sz 0.71 moles
Topic: Chemistry-Section A
Item No: 63
Question | 190263
_?;pees:tion MCQ




5 250 mL il ¢{ls34l 100 mL, 5% (w/v) NaCl - wiellui srells glael oirtiey ¢q. Ssiaigll 2ol
uestion:
(Albumin) < NaCl il glagril Gl vl <ld gaieaml 20, e-idd gleut :

A gt 220( Ml (gar(l Hld)
B: N CEIMIENIC]
c: Al ALl g W o
D: Qg M %
Topic: Chemistry-Section A
Item No: 64
Question
o 100264
Question
Type: MCQ
Ouest Na, Mg 21 Si <l Hau 24415381 2U-U1ed] 24450 496, 737 244 786 kJ/mol ©. dl Al <l uaux

uestion:

L5261 2e2ed] (K] mol — 1) i 2UAl.

A: 487
B: 768
C: 27 F
D: 856
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100265
Question
Type: MCQ
Question: | ElsH[AEML 9L (Gangue) ACEUALL AL GUHLIL WAL HI2 S3AUHL 20 S 7
A [Azeo-{l4 wiell sl ugueL (Contamination)
B: 9209-l1 tlg (el 2ie aigHl eugii ugNel
c: viriley & of Miglds 2A3UHL YL 3UHA D).




D: sl el Aol 2 Eaail.

Topic: Chemistry-Section A

Iltem No: 66

Question ID: | 100266

Question

Type: MCQ

Question: | [hg+il a8 MHLAIUL sy elly Lesel AL Bl cdglor dy B & AN O d

A Zn(OH),
B: Zn0O
c: [Zn(OH),]*~
) 2—
D: [Zn0O,]
Topic: Chemistry-Section A
Item No: 67
Question ID: 100267
Question Type: | MCQ
Question: (A2 ASge 20 ALY AlFgerd 2A018] 2RY Sl UeAgsU 20 O d
A LiNO, 2+ NaNO,
B: Li,O 24 Na,O
c: Li,O 24 NaNO,
D: LiNO, i Na,O
Topic: Chemistry-Section A
Item No: 68

Question ID: | 100268

Question
Type: MCQ

Question: | SCLy, O,, CIF, 24l SF Ul 4E43Y URHIBLUL 2¢d 2AI0iHS51RS 40U (Y7Ul) vl 243 O o -




A; 0,1, 2 2 2

B: 2,1,2240

C: 1,2, 224 0

D: 2,1, 02
Topic: Chemistry-Section A
ltem No: 69

Question ID: 100269

Question Type: | MCQ

. o, ™, oy o Y | . . )

Question: AL, 1AL AL {12 2 YUl Uil &4 215 DPUARA D 7

A: SC3 + , an +

B: Tid+ , Cu2 +

C: VZ + ) T13 +

D: an + ; MI’IE +

Topic: Chemistry-Section A

Iltem No: 70

QL{estion 100270

ID:

Question

Type: MCQ
e Al [Relo 2uesad WeHH, KMnO, Mot 2Allsudetsdl ails ad © o etell oy atiucsed]

Question: | ayzicis dla ueeul 23 53 O, 20 WEAMEL, bl AL 2422 2z Ml Adl dabil $251R
QUL :

A: 5

B: 1

C: 0

D: 3

Topic: Chemistry-Section A




Item No: 71
Question ID: 100271
Question Type: | MCQ

Question: 2N 4oL Usl 53 55 guIRISL (Herbicides) 4314 © ?
A: E63LA 2 SlALEstlA

B: UL selze 2 2T

C: UL 204 2 ekl

D: ULHH sd13e 24 ALY 224[Ae

Topic: Chemistry-Section A

Item No: 72

Question ID: 100272

Question Type: | MCQ

Question:

Al2L 2AaL U8 534 uAn elires A% © )




D:

Topic: Chemistry-Section A

Item No: 73

Qgestion 100273

ID:

Question

Type: MCQ

Quest {120 AL Aoyl AL 2L UL 53 2L L [Gst [usd 20481 7 (Consider the double bonds
uestion:

in the structures are rigid and not delocalized.)

CH,
A:
«—>
CH, CH;

CH,

CH;,
CHj CH;
B: @ <«
CH;,
CH; CH;
5 CH; CH;
«—>




CH; CH,
D:
<«
Topic: Chemistry-Section A
Item No: 74
Question ID: | 100274
Question
Type: MCQ
AgCN NaCN
g < 5 N Cl > ‘B
Question: (131:&{ -L"l'l-l_w) CH;0H=H0 CoH50H - HyO ('tjj'“"?-l Alusy )
Gualscl MEAIAL Bl Ui dl, 2oyl ‘A7 2ie ‘B’ 2453 2ULEL
®@ © ® ©
A: 2t s
5% N=C, <N N=C
B: e i
<N C=N, <N C=N
®@ ©
C: it s
% N=C, <N C=N
@ ©
D: e o
<N C=N, <N N=C
Topic: Chemistry-Section A
Item No: 75
Question ID: 100275
Question Type: | MCQ




Question:

OH

Br NH,OH
£ A & » B

P,05

~-

CHO

Gualsc ulsan el A i dl. [Husy 'C 4 9 7

Br Br
A: \Q/
CN
OH
Br Br
B:
CHO
Br Br
C: \Q/
CHO

» C




OH
Br Br

D:

CN
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 100276
Question
Type: MCQ

CH,
&l
— NH3 BI'2
Question: A’ (CgHeCL0) CgHgCINO NaOH
H,N
Gyl MEAA AUl |l Aisy ‘A AL )
O
A: T |
O
Cl

B: &1

H,C




O
Cl
C:
&l
CH,
O
H
D:
Cl
CH,CI
Topic: Chemistry-Section A
Item No: 77

Question ID: 100277

Question Type: | MCQ

=NCl~
‘A’ NaOH
Question: GILW
(RARrsr -3 SIA)

AAl2L e Y5l g ulbus ‘A A [3dld 529 7

OH
A: ./




OH

B:

NH,
C:

NH,

D:
Topic: Chemistry-Section A
Item No: 78
Question ID: 100278
Question Type: | MCQ

Question:

Al2L 2419 el A LAl |l

NH,

() AIH (Bu)
(i) H,O

[Ausy ‘B’ LA

r

CH;CHO

dil NaOH, A

(3o {lusy)




N =CH —CHj

CH=CH-CHO

T
C—-N=CHCHO

c: HZN—Q—CHZ—N=CH—CH3

Topic: Chemistry-Section A
Item No: 79

Question ID: 100279

Question Type: | MCQ

Question: A2 2L Ul 53 25 Hllsre Hles (hypnotic) e GElgREL 97
A A1

B: 2AH1ed

C: LX)

D: Uiwel[d

Topic: Chemistry-Section A
Item No: 80

I%‘feSt'O” 100280

Question
Type: MCQ

2s Hellsr X 2ARES B 24 NaOH L gleeii gled 4 © g NaHCO, AL glaeil 2igied 8,
Question: - N . . . N N -
Aoyt X e $R8 SARIDS Al gLl U1 sd ol DL 2UU D, dl Aoyt X 2 O 7




OH

A: @
OH
B:
CH,0H
C: @
CH,0H
D: é
Topic: Chemistry-Section B
Iltem No: 81
Question
D- 100281
Question

Type:

Numeric Answer




745 ppm KCI il gl901 ®RAL Aesdl S (51 22005 129 m~1) Al =218 100 O (gl 1 adls

o T b

Aed) . ol o S (U3 514) 149 ppm KCT AL g196L 112 624, €14 artl #4931 50 O (g1eL 2

A .
™M = %1072 ©. dlx 4 HeH

A5 Aed) O, a8l T 2in glel 2 L AR clgsarl AL 2RITR e,

Question: .
"\2
©.  (nwsl yals)
[=uie, KCI + HleR 501 74.5 g mol ~1 ©.]
Topic: Chemistry-Section B
Item No: 82
Qgestion 100282
ID:
Question .
Type: Numeric Answer
ettt AT 24t H0UAA B Al 20a-ls Blecdiil 20454 102 244 181 pm 8. 4L 24l 2[5 aAui
Question: | 25(eslsz0l Ueil gl 209 8. 21 2525 B~ U $4fots sl Usiol 419 9. 2 A Totllsy ivesasly
(el i dlovz 8. dl 2525 AB - 2153 sn-l ez dond pm 43l (Al yeuls)
Topic: Chemistry-Section B
Item No: 83
Question | 100283
?ue§tion Numeric Answer
ype:
2a, (sl a,=ollaedl Bsil 52.9 pm) doud-l 2isudlell iRl s Sasgiadl aldul *4du
Question: | 2AEAAAL km s~ gl
(PG O : dasglrd € =9.1x10 731 kg, s -l A0S h=6.63 %1073 Js)
Topic: Chemistry-Section B
Item No: 84
Ql,.lestion 100284
ID:
?ues.tion Numeric Answer
ype:
sdlx 600 mL 0.2 M HNO, <L 400 mL 0.1 M NaOH il g1l 218 B2 s34l 20 © AR §elRseil
Question: | dlMAIAML Adl 4HLzL %1072 °C 8.

(ceradlszel 2i-aedl =57 k] mol ~1 24 wigll-l R Gwi=42 JK—1 g—1




Topic: Chemistry-Section B

Item No: 85

Qlfestion 100285

ID:

_Crlue§tion Numeric Answer

ype:

ot O, Ay 303 K 42 wiellaisl v szeusi »ud, di 1 ([@er wellui 2{eiidl O, 4yt milli moles <l
vy 9. (sl yuus)

Question:
(PANE O ¢ dedll [l 210is O, diy 42 303 K dldir 46.82 k bar 24l O, o 21il21s gedel
=0.920 bar)

Topic: Chemistry-Section B

Item No: 86

Qgestion 100286

ID:

Question ,

Type: Numeric Answer
PbS -l gledtdl JRLSR 8 X 10~ 2 9, ad PbS il 24 wollii 298 K gleddl xx 10716 mol L—1, ¢l dl

Question: | XU 9. (dAwsHlyels)
[PANE 42 = 141]

Topic: Chemistry-Section B

Item No: 87

Question ID: | 100287

Question

Type:

Numeric Answer




X 24 Y 2ol WAL X AL UUHAHL UUU 53 2 Y AL AU Y 54 L .
. [X] [Y] A32ALAAL 2L
ML = =, o E—
mol L mol L molL ~ min
11 ! 0.2 4%1073
111 0.4 0.4 mx 103
vV 0.1 0.2 2x103
=, o = = = (2
m ¥ [ Al HEL AL HU-ICHS 2Bz 9. (-'l“:i'&-'ll ‘Lj\LElL&)
Topic: Chemistry-Section B
Item No: 88
Question
D: 100288
1Q_ue§tion Numeric Answer
ype:
Quest Big 3l 2oUeIS U (B o7 2ol 22l 2AHAL AR Al oadd ), PABLAL 2 RsAL vl
uestion:
e Yrelds oif | vy 9.
Topic: Chemistry-Section B
Iltem No: 89
Question
D: 100289
_CI_)ue§tion Numeric Answer
ype:
AMGertl GAlHlnzin G, AMgAHl 1 g sl GHal 1, 1, 2, 2-221liiNA (27% luse ) 44l ©.
Question: ulsAmi v 1, 1, 2, 2231t AL o2l x10~1g ©. (yails wva)
(GlHll "4z 50 =80 g/mol)
Topic: Chemistry-Section B
Iltem No: 90
Question
D: 100290
Question

Type:

Numeric Answer




Question:

[Fe(CN), 3~ 2Aicrsatsla A4slel ©. 2 uslel 3oud Glod A 2icoieiat wie 25(es 2t RuRlsrel Gled 4
BOL(—) A uil




